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3 parameter fit: Mag—Mag(lnst) = 23.7444.23 + (—0.60+3.58) airmass + (0.33£0.19) color
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2 parameter fit: Mag—Mag(lnst) = 23.1540.15 + (—0.10+0.00) airmass + (0.31+0.00) color
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1 parameter fit: Mag—Mag(inst) = 23.35£0.07 + (—0.10+0.00) airmass + (0.11£0.00) color
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3 parameter fit: Mag—Mag(lnst) = 23.74£4.23 + (—0.60£3.58) airmass + (0.330.19) color
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2 parameter fit: Mag—Mag(Inst) = 23.15+0.15 + (—0.10+0.00) airmass + (0.31+0.00) color
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1 parameter fit: Mog—Mag(Inst) = 23.35+0.07 + (—0.10£0.00) airmass + (0.11£0.00) color
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